
INCLUDED PARTS
18˝ TALL 24˝ TALL

24 tall P1 (X2)

P2

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

*Bolt shown
actual size.

5. 4. 3. 2. 1.

w
ithout a clutch

clutch setting at low
 to m

edium
 tor

You can use a cor

going together
of 

Then using the Allen Key or Loll T
Start all bolts by hand to ensur

T occurr

m
uscle 

ASSEM
BL

to get them
 

Bolts should not be for

the flattened car
o avoid scratching fur

get it taken car

 to install bolts as you can easily overtighten and dam
age the pr

dboar

Y TIPS :dless screw
 gun if you have one and know

 how
 to use it. Set the 

, please send us a photo of the part you ar
together as 
ced, but som

e com
ponents, particularly 

e pr

d box the fur

  nitur

e of straight aw
ay!

Prior to beginning assem
bly

que. 

they 

niturare do not r
W

e 

ool, tighten until you feel r

e w
as shipped in.

5 Im
portant Points Yecom

m
end using an electric drill 

m
achined for 

ou e having tr
a snug fit.  If 

the blocks w
ill 

esistance.
oper alignm

ent and to prevent cr

ouble w
ith.

parts 

oss ar thr

e, assem
ble on a clean soft surface like a blanket, 

N
EED

e 

ed, please take photos and go to lolldesigns.com
/dam

age. Rest assur

 to Read

oduct.

still not 
need a bit 

eading. 

carpet, or 

ed w
e’ll 

you have everything and that nothing w
as dam

aged during shipping. If dam
age has 

, please inspect and inventory the parts to m
ake sure 

Insert bolts thr
.

as show
n below

BLO
C

K
 & BO

L
ough countersunk hole side of blocks 

T IN
STALLATIO

N

C
O

R
R

EC
T

IN
C

O
R

R
EC

T

      H
ole 

C
ountersunk 

“Loll Designs inspires people t
eg Benson - Founder

G
r

o
appreciate the outdoors.”

D
uluth, M

innesota 55807
5912 W

sales@
lolldesigns.com

+1 877-740-3387

For further 
For pr
For m

or
W

E W

encouraging r
m

uslin 
The 
W

aseca Str

loll
oduct car

car

eet

ygagging assistance, please r
e & m

aintenance, visit w
w

w
e info and visual aids, w

atch the assem
bly videos at w

w
w

AN
T YO

U
 TO

 LO
VE YO

U
R

 LO
LL

har
dboareuse.  Loll D

esigns and Planet Earth thank you!
dw

ar
d 

e’ve gone thr

e bags r
box, 

ough grpaper 
eplaced 

w
rap, 

     R
EC

YC
LE TH

E P

plastic bags 
filler and 

AC
K

AG
IN

Geach out!
.lolldesigns.com

/car

paper w
ith the 
bags 

intention of 
can all 

e-m
aintenance

.lolldesigns.com
/videos

go in your 
educing 

r
recycling 

plastic 

eat lengths to m
ake as m

uch of our packaging as possible r
bin. and

The  
ecyclable. 

ASSEM
BLY IN

STR
U

C
TIO

N
S & PR

O
D

U
C

T IN
FO

:
BR

O
O

K
LYN

 PLAN
TER

 12 X 12

BY:

METAL SIDE

2x
METAL SIDE

2x

P1

2x
P1

2x

P2

1x
P2

1x

GB

2x
GB

2x

1/4˝ WASHER

12x
1/4˝ WASHER

16x

1/2˝

12x

7/8˝

2x

5/32˝

1x

1/2˝

16x

7/8˝

2x

5/32˝

1x



1

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

18˝ TALL 24˝ TALL

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

2

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

3

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

P2 1x

24˝ TALL

1/2˝

3x 4x

1/2˝

3x

1/4˝ WASHER

4x

1/4˝ WASHER

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

1/2˝

4x

1/2˝

3x

METAL SIDE 1x

18˝ TALL

P1 1x

1/4˝ WASHERR

3x

1 /4˝ WASHER

4x

METAL SIDE 1x



4

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat5

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

24 tall P1 (X2)

P2

18 Tall P1 (X2)

24 Tall Metal Side (x2)

18 Tall Metal Side (X2)

1/2" Button Head
24" Tall (X16)
18" Tall (X12)

1/4" washer
24" Tall (X16)
18" Tall (X12) .5 G Block (X2) 7/8" Flat Head Bolt (X2)

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

6

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

1xGB

1/2" Button Head w/washer (X4 each) 
(X3 each for 18 Tall)

1/2" Button Head w/washer (X4 each)
(X3 each for 18 Tall)

1/2" Button Head w/washer (X8 each)
(X6 each for 18 Tall)

7/8" Flat
7/8" Flat

1x

7/8˝

GB 1x
7/8˝

1x

P1 1x

18˝ TALL 24˝ TALL

1/4˝ WASHER

6x

1/4˝ WASHER

8x

1/2˝

6x

1/2˝

8x




